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Total No. of Questions — 24 Regd.
Total No. of Printed Pages — 3 No.

Part — 111
MATHEMATICS, Paper-I1(B)

(English Version)

Time : 3 Hours/ : [Max. Marks : 75

Note : This question paper consists of three sections A, B, C.

SECTION - A 10 x2 =20

l. Very short answer type questions :
(1)  Attempt all questions.

(11) Each question carries two marks.

| . Find the equation’ ot the cirele tor which the points (4. 2). (1. 5) are the end
|

points of a diameter.

2. Find the value ot k if the points (4. 2) and (k. =3) are conjugate points with
respectto the circle 2 + y= = Sy + 8y + 6 = (),

3. Find the equation of the radical axis of the circles v2 + y= + 4y + 0y — 7 = 0.
i+ y)+ 8y + 12y -9 =0.

4. Find the equation of the tangent to the parabola x* — 4 — 8y + 12 = 0 at
[ '{
\ 2
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5 Find the product of lengths of the perpendiculars from any pomnt on the
3 3
AT W :
hyperbola — —==— = 1 to its asymptotes.
16 9
_ et (I+ 1) ‘ y .
0. Evaluate - dvonlc R\ {xe R cos (xve')=101.

- X
cOs™ (e )

dy
') Evaluate : [{.1'+|}{.1'+3}'

: Ly
8. Evaluate : J———
3=y
0
R
0. Evaluate : | sin®x cos? ¥ dy.
{h

T, e . . g 3 .
10.  Form the differential equation corresponding to. v = cv = 2¢-, where ¢ is a

parameter.

SECTION - B Sx4=20
[I.  Short answer type questions
(i)  Attempt any five guestions.

(i) Each questions camics four marks.

1. apoint P is moving such that the lengths ot tangents drawn from P to the
: L L ¥ 3 : .
Birdles v° + v — 4y — 6y —12=0and x- + y- + 6x + I8y 720 = 0 are in the

ratio 2 ;3. then tind the equation of the locus of P.

12, Find the equation of the circle passing through the points of intersection of the

; I Y
circlesy= + v-—8x—0y+ 21 =0.x-+y--2v—15=0and (1. 2).

13.  Find the equation ot the ellipse referred to its major and minor axes as the

co-ordinate axes X. Y-respectively with latus rectum of length 4 and distance

between tocl 4ﬁ :
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4. Show that the locus of the teet of the perpendicular drawn from foci to any
tangent of the cllipse is the auxihiary cirele.

15, Find the equations of the tangents to the hyperbola v~ — 4v= = 4 which are
(1) Parallel
(11) Perpendicular to the line v + 2y = 0,

16.  Find the area of one of the curvilinear triangles bounded by v = sin x, v = cos v
and X-axis.

I 3
dx

SECTION - C Sx7=3
[1l. Long answer tvpe questions
(1)  Attempt any five questions.

(11)  Each question carries seven marks.

8. Show that the following four pointso¢d. 1). (=6, 0), (-2, 2). (-2. -8) are

concyelic and tind the equation ofthe circle on which they lie.

3 " " % = y
19. Find the transverse commen tangents ot the circles v= + y= — 4y — 10y + 28 =0
| 1
and x- + y= + 4y - 0y - 450,

20.  Find the equation of the parabola whosc focus is S(3. 3) and vertex is A(1. 3).

cos +Isma+7
21. Evaluate: j - dv.
COSN +sin X+ |

22, Obtain the reduction tormula tor | = I cosec'y dy. n being a positive integer.,

n =2 and deduce the value of ‘[ cosec v du.

—

23.% Evaluate: | log (] + tan x) dv.

—
o

dy v=—=2xv
24, Solve: === =

{I'.T X =AY
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